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QUESTION 1

You work at a coffee shop. They ask you to set up a website that stores charges on purchases. 

You need to recommend a data type in a database table to run financial functions against the charged amounts. 

Which data type should you recommend? 

A. Money 

B. Bit 

C. Varchar 

D. Binary 

Correct Answer: A 

 

QUESTION 2

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
selection is worth one point. 

Hot Area: 

Correct Answer: 
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QUESTION 3

This question requires that you evaluate the underlined text to determine if it is correct. 

First normal form requires that a database excludes repeating groups. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct. 

A. No change is needed. 

B. Composite keys 

C. Duplicate rows 

D. Foreign keys 

Correct Answer: A 

 

QUESTION 4

You need to insert two new products into the Product table. The first product is named Book and has an ID of 125. The
second product is named Movie and has an ID of 126. 

Which statement should you use? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 5

This question requires that you evaluate the underlined text to determine if it is correct. 

ALTER TABLE removes all rows from a table without logging the individual row deletions. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct. 

A. No change is needed 

B. DROP TABLE 

C. TRUNCATE TABLE 
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D. CREATE TABLE 

Correct Answer: C 
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